This report contains the transfers results.

4,468

1,118

Contest Name	Ward 14 - Thorniewood
Valid Votes	
Positions to be Filled	
Quota	

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Margaret BOYD	Scottish Labour Party	760
Joseph BUDD	Independent	568
Jeanie BURGESS	Scottish Conservative and Unionist	318
Helen LOUGHRAN	Scottish Labour Party	1,180
Barry MCCLUSKEY	Scottish National Party (SNP)	1,642
	Total	4,468

Candidate Helen LOUGHRAN Elected with 1,180 votes, being in excess of the quota of 1,118 Candidate Barry MCCLUSKEY Elected with 1,642 votes, being in excess of the quota of 1,118

This report contains the transfers results.

Stage 2 - Surplus of Barry MCCLUSKEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BOYD	448	0.31912	142.96576
Transfer to Joseph BUDD	627	0.31912	200.08824
Transfer to Jeanie BURGESS	29	0.31912	9.25448
No further preference	538	0.31912	171.68656
Not transferred due to rounding			0.00496
	Total		524.00000

This report contains the transfers results.

Stage 3 - Surplus of Helen LOUGHRAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BOYD	893	0.05254	46.91822
Transfer to Joseph BUDD	103	0.05254	5.41162
Transfer to Jeanie BURGESS	54	0.05254	2.83716
No further preference Not transferred due to rounding	130	0.05254	6.83020 0.00280
<u> </u>	Total		62.00000

This report contains the transfers results.

Stage 4 - Exclusion of Jeanie BURGESS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BOYD	130	1.00000	130.00000
Transfer to Joseph BUDD	77	1.00000	77.00000
Transfer to Margaret BOYD	3	0.31912	0.95736
Transfer to Joseph BUDD	10	0.31912	3.19120
Transfer to Margaret BOYD	36	0.05254	1.89144
Transfer to Joseph BUDD	10	0.05254	0.52540
No further preference	111	1.00000	111.00000
No further preference	16	0.31912	5.10592
No further preference	8	0.05254	0.42032
Not transferred due to rounding			0.00000
	Total		330.09164

This report contains the transfers results.

Stage 5 - Exclusion of Joseph BUDD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BOYD	290	1.00000	290.00000
Transfer to Margaret BOYD	256	0.31912	81.69472
Transfer to Margaret BOYD	68	0.05254	3.57272
No further preference	355	1.00000	355.00000
No further preference	381	0.31912	121.58472
No further preference	45	0.05254	2.36430
Not transferred due to rounding			0.00000
	Total		854.21646